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34° 0.5592 0.8290 0.6745
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@ (1) x=34°, y=0.8290 (2) 36.225

@ (1) x=136°, y=0.8142 (2) 34.235

)
)

® (1) x=36° y=0.872 (2) 36.215
) x=35° y=0.8192 (2) 40.45
)

® (1) x=36° y=0.802 (2) 36.95



NEEER

o
Ho
o|) =
N g

™ T+
M
op o

T TR

T

Cm2



the 2ea 2 @ el Zolrh 19l 4
SHAANA LAGE 7} x & W, sin x+cos x
o grol VAt VP opt 4y p e ol gre

a
c
T2 (T, a, b, Ct rEl4)




oh& A9] e

43 sin 45°cos30°
V5 cos 60° + V3 sin5°cos
V6 tan 60°
3+1 2V3+2 5+ 2
o ¥ @ VT ® ‘FQ
2V5+2 5+3
@ 25 +2 ® V5

2 2



BC ¢ ufj, tanA 9]

% ABC o tisiA] AB = g

37}

751‘ Z}—AP

d

/B = 90°

6.

sholat

2



7.

A+B=90° (%, A>0°B>0°¢d o, ¢}

jille

% 27

&2

@® cos(90°—A) =sinA

@ sinA+cosB=1

@ sin®A +cos?A =1
in A
® tanA = S

@ tanA +tanB =1
T cos A

rlo
ol

Mo




oy

?(,

T+ 22 AABC o4 AC = 18

C=1209]1, Ho|7} 54 & 0, 2.C 9

90° < £C < 180°)

@ 100° ® 120°

B 150°



AZ7FE ABC oA cosA+

cheel

9.

o
-
=
|
_
jans
ol
G
o
<
=
n




A o, tan(90° - A)

S
13

% ABC |4 sinA =

) 7h5}2}

/(B =90°¢!

10.

O Zr22(H, 0° <A <90°)



-
-
=
A

1o
oS

1o
ol
od

i)

o,
il
rlr
N

o,
[U%)
<

-0,
iy
rx

i)
=
A

i)

<

A
lo
Ll
it

T,

[N}

BN

By
i/

2l 25 o7t

B Tsfelet

=
=%

YEE
=%



12.

= o] §kx]59] Zo]7} 1 o]

, SA 3717k 50° Q1 H2HE OAB
OMA 10B ¢ uj, BH 9] Zol&
stodzt, (&, sin50° = 0.77, cos50° =
0.64, tan50° = 1.2 2 AArgict)

M

R
|7to]

>R
=%




13. Yax 9 g FolA M 2 A27 (F, 0° <x<90° °]t. )

® tanx= V3 @ sin(x+10°) = 1
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